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85. Which of the followin

g sta

Roy?
| Mohan
orrect about Rajaram

emen 'sfare not ¢

i) He IS knOWn as the

nce.
o of Indian renalsea
ll) His motto Was g0 b

Ak to the v dag
) He started Beng

udi,
W Weeky ‘Sambad Kaum

(A) Only (i & )

(8) Only (Il & il
(D) Only (1l
(C) Only (i

('Gulamair
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! ss0Cia

followmg S0ckal reformey e 4

. Which of the

(A} Veere Salingam

(B) Jyothirao Phule
d Khan
ir Syed Ahme
(D) Sir
(C) Ayyankali




87. Consider the following statements with regard to United Nations organizations:

i) The General Assembly is the meeting house of all member nations
if) The UN shall not interfere in the domestic matters of the states

iii) Its headquarters is in Geneva.
Of these statements,

(A) (i) and (i) are correct
{C) (ii) and (iii) are correct

(B) (i), (ii) and (iil) are correct

(D) (i) and (ili) are correct

Which of the following is true regarding the Nobel Prize 20237

i) Nobel Peace Prize was got by Narges Mohammadi
ii) Nobel Prize in chemistry rewards the discovery and development of quant

um

lil) Emmanelie Charpentier and Jennifer A Doudna discovered the method for ge
editing.

(A) Only (i)

(C) Only (iii)

(B) Only (ii) and (iii)
(D) Only (i) and (ii)
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89, Which of the following is not the work of Chattambi Swamikal?
(A) Dravida Mahatmyam (B) Jivakarunya Nirupanam
(C) Bhashapadma Puranam (D) Udayana Virunnu

90, Which of the following Folk dance is associated with the state of Tripura?

(A) Koli (B) Lavani
(C) Hojagiri (D) Yakshagana
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The first authentic book in Malay®ie™ 9"2MMar was prepared by

(A) Herman Gundert (B) Benjamin Balley

(C) Rev. Meag (D) Dawson
Which of the ’
Of the following statement S/8r€ not correct about the programmes of

NOn—¢ Br
Non-coopera '0n Movement, 19207

(8) All of the above (i, il and i)

(D) Onty (i and i)
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Owing statement is/are correct about Chandrayaan-3 Mission?

Owth of the country's space-tech ecosystem.
(B) Only (iii)

(D) Only (i and il

ents is‘are correct about Panchayati Raj system in India?

Directive Principles of the State Policy

cecentralization
(B) Only (i) and (jii)

(D) Oniy (i) and (ii)
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95. Which of the following statementiare not oncerned about Thermodynamics?
) Rate at which a reaction proceeds

) The feasibity of a chemical eaction

) Energy involved in a chemical taaction

(A) Only il and i 18) Only i

(C)Only fandii () Ony
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en 96.  Which of the following state
) They create the illusion t

i) Convex mirror has a wide

ment is/ar elated to the advantage of convex mirror?
er

at objects further away than they actually are.
are

r field of View.
Perception

d (il)
(A) Only (ii) and (i _(@)Only (1 and

i) Gives enhanced depth

(C) Only (ii) o) only 0 and (ill)

the August Offer, 19407
Which of the following statement Is/are correct post

') Dominion Statys.

i) Provincial autonomy,

i) Immediate Increase in Viceroys Executive Counci.l. i

(A) Only (i and ii) 18) 90 ('i:

(C) Only (i il
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98, Which f the following satementsar cqrct about he SUpreme Court of India?
1) The Chief justice is appointed by the Union Law Minister.
) Article 131 explains orginal Jurisdicion ofhe Supreme Court
i) Sujata Manohar was the first woman Judge of the Supreme Court of Indlia.

(A) Only {) (B) Only ) and ()
(C) Only il (D) Only (i) and (i)
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99, Which of the following statement is/are correct about Linux operating system?

i) Linux Is a free open source operating system,

ii) Dennis Ritchie Is the Father of Linux
iii) Bharath operating system solutions is an Indian made Linux.

(B) Only (i) and (ii)
(D) Only (i) and (iii)

(A) Only (ii)

(C) Only (ii) and (il
100, AU et - T Hfar foe & 6 98 8172
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